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6. tode BT Gu30R0. | (10x1=10)
a) FCowd Fdodh BZF odRdd ?
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We are citizens of India
T PoTs8 Te3T  JEnd

Youths are valuable asset of the nation
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Where there is a will there-is a way
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IV Semester B.Com. (NEP) Degree Examination, September/October - 2023
ADVANCED CORPORATE ACCOUNTING

_ (Regular/Repeater)
Time: 2 Hours © . _ Maximum Marks : 60

Instructions to Candidates:
1) Attempt all sections according to internal choice.

©0308 wekodh FWS SR WPARYR LVI020.
2) Simple and non-programmable calculators are allowed.

NOY 1B Weemopdhae® vl T00,See3TRIRY, wmma,qmﬁd
3) Section D case study is compulsory

AFN-8 Fex el IR ODTING.

SECTION- A
R - &

Answer any Five of the following questions. . - (5x2=10)
3 NSV IR mente VTG, ¢03020.

1. a) What is redimption of preference shares?-
oBBeD  HKedne BVeeBEI  F0TBed?

b)  What is amalgamation of company?
30TROD  AVET  20TTeD?

c)  What is Reconstruction of company? :
TOTAOD  IDISIFTPEER. OB

d) What is liquidation of company?
FOTAOD 0P Q0TIED?

e) Name the types of winding up.
QABEI TFONI, TIOA.

[P.T.O.
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f)  Write the types of amalgamation.
| Roo3eemPod [FESHYRY,  WIND.

¢) Who is a liquidator.
@g&ge&tﬁ‘ 0339307

SECTION - B
R~ B .
Answer any Three of the following questions. © (3x5=15)

3ENT . BRIJHTRETR d:..radu V3D,
2. Distinguish "Merger" and "Purchase" in case of amalgamatlon of company as per AS-14.

ox-14 O s 3oTACH DORT  RoBPFRY DI W) Eblellalorviay
TBesR ' :

3. What are the conditions and methods of redemption of preference shares?
- sgZod  Rednd: > OPFROD [WIDAKH DB QEOIND  03RR)T)?

4. - The Kumar Co.Ltd redeemed its preference share amounting to Rs. 2,00,000 a:
premium. of 10% for this purpose it issued 5000 equity shares of Rs. 20 each a
premium of 4 per share the company had balance of Rs. 8,000/- in general reserve
A/C, Rs.50,000/- in profit and loss credit balance and bank balance of Rs.1,40,000/-

Draft the journal entries to record the above transactions.

DT BOBD OB I, eﬁci:%oda mxedaﬁeéa’n (=] wdw@ﬁ 10% T
eawodon 2 OF dra'?oﬁamfab wcﬁda&fa%ﬂbézﬁ facib 20 dm*?oaaﬁeé 5,000
' ’ér%r::jé.% HeoonIzYy wé ReonR 4 we&bodao N BOTAOIN  AOTRF,  NEELD
émeﬁée.“) o ¥0} 8000 m@ﬁ @Kb 6&@06330 Sn. 50,000 oo 5333 aagcs
e asa@af R 3. 140000 waoé ST, Heds asaommﬁe;sb '
ma)ej,qoo BIEST smmwm @% Sa. ;

5.  When do you recommend internal recounstruction of a company?

BeedgoD. 80308 IIVIFDIFRTZ), A 030N - STRTR  BeEED. -

6. Who is a liquidator. What the modes of winding up?
Oy oIt I OVHFY TRWH  AGOIND  IRRTY?
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SECTION- ¢
‘ AT S S
Answer uwny ‘Iwo of (he following questions. (2%10=20)
gy Sng ohesdmedde ot wgiet eogono.

What are the recent devolopment in aceounting, and lists of accounting standards?
SeeoNEd  Qdedd  tiddnuE), wlond @By diponn BRSEoTS  EHNW
0w i) ? ' ‘ e
X d and Y ltd have decided (o amalgamate their business by forming a new company
called XY ltd to take over (heir assels and liabilitics on the basis of the balance
sheets piven below, :

Balance sheet of X and Y Itd as on 31/3/2023

Particular Note No X Itd Y Itd

. Equity and liabilities Rs. Rs.
a)  Sharcholders funds share capital | 2,50,000 2,50,000
Reserve and Surplus ' 2 (-)50,000 50,000

b)  Non-current liabilitics trade payables3 50,000 50,000
Total equity and liabilitics 2,50,000 3,50,000

II.  Assets : Rs. Rs.

a)  Non current Assets
Fixed Asscts:

Tangible Assets ' 4 1,40,000 1,70,000
“Intangible Asscts @ goodwill -. 50,000

b) Current Asscls :
~ Inventories : stock , 70,000 40,000
Trade Receivable : debtors . © 30,000 70,000
Cash and cash equivalent : cash - 10,000 20,000

Total Assets ‘ 2,50,000 3,50,000

Notes to Balance Sheet as at 31/3/2023
Note 1: Share Capital '
2500 shares of Rs. 100 cach fully paid up 2,50,000 2,50,000

Share capital 2,50,000 2,50,000
Note 2: Reserves and Surplus '
General Reserves 40,000
Surplus: loss and profit respectively "~ (550,000 10,000
Reserves and Surplus : (-)50,000 50,000
[P.T.O.
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Note 3:

Note 4:

Xltd DD Y itd 8 398 deasos 853&35" e’

Trade payables
Sundry creditors
Bills payable
Trade payables
Tangible Asscts
Buildings
Machinery
Tangible assets

4812:1/1D0210

30,000
20,000
50,000

60,000

80,000

©1,40,000

50,000

-

50,000

90,000
80,000
1,70,000

Ascertain the purchase consideration of cach company and prepare the
amalgamated balance sheet. Assume conditions of merger have been

satisfied.

DD ﬁﬁft@'ﬁ@n'ﬁ??&) RIANAEY @N@J‘D%?QD XY Onuic
soﬂao&m dzs*:oas a‘maezé 3;’» aSasasadsSab &WJW&NQA) a)csr-'o,%csad

X DD Y Onudss I, dets Qﬁw_

ms-ag 83363

3¢

L a3t 3 Ie8modisd

a)

b)

RehTT3 PN

RED VOB

WD ) BIO
TRITYT a’.raeamaéﬁe:o
w\*ocs FOTHOIN

zo&.o |G méo a&rasamau

IL 3:716#3 ‘

a)

b)

mc}poﬁogzs @a’imb

-
DA : T
%@@d? mémd +  Dr

scd B P[RS ¢ s

WED - BANKD -
eJ )

)

.[\),—

=03 317372023

X Itd

B0 &eed 2

«w02) BLHA

Y Itd

2,50,000 2,50,000

(-)50,000

50,000
2,50,000

1,40,000

70,000
30,000
110,000
2,50,000

50,000

50,000
3,50,000

1,70,000
50,000

40,000
70,000
20,000
3;50,000
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Note

Note

Note

Note

9. The

RO dewdk WPedned as at 31/3/2023
I D wozgmy
2500 S3cinomy momwrormoh 100 dw.  2,50,000 2,50,000
TODIAT  Compodny  Redndd

dedh  LoBmY 2,50,000 2,50,000
2: Quexew DD @ b
ARENVE VO | 40,000
&’dizo BTN TH DD, g (-)50,000 10,000
ey THY Wm0 (-)50,000 50,000
31 w3 BTN
ANF  XOTT ' 30,000 50,000
TRWIXLICTT VPN ‘ 20,000 -
SRR FRCTIND - 50,000 50,000
4: IHmw  Ynh _
] ' ‘ 60,000 90,000
003 RLTTTEANED 80,000 80,000
DHRT FAnd 1,40,000 1,70,000 .
T8 TOTICD 20D AFFY DO JONRS D, DR
SODHTOH  BEIODI), ATIIDHITD DI ﬁdé_)oﬁﬁmd m%ﬁmﬁd
QOT  LWA. 3
assets of "A" Itd were overstated and hence it is decided to reconstruct the

company on the following terms:

The sharcholders' to receive in lieu of their present holding of 25000
shares of Rs.10 each (fully paid) the following.

Equity shares of Rs.10 each fully paid to the extent of 2/5% of their holding.
Preference shares of Rs.10 each fully paid to the extent of 2/5th
new equity shares. -

Debentures of Rs.10,000

The assets to be written down are as under ,
a)  Goodwill which stood at Rs.1,20,000 was written down to Rs.70,000
b) Machinery which stood at Rs.1,30,000 was written down to Rs.90,000
c) Building were written down by Rs.10,000

Pass the journal entries in the books of the company and calculate capital
reduction amount .

of the above

\

[P.T.O.



HIIHI|i||lllllllllflIIIIHIIIIHHIIIIIIIIIIIIlllilllll (il ) - 48121/D0210

10.

. FOTICOD N30T w,\;mﬁb B G:BCSOOCS BOTRODI, 3 YN
RaPIRY e wé&s—‘&bmm adFt)Noahd

S lOC_Lra

(&

RO I, TS bidzmeny 25000 Hedorid
(Romprreon  TBIAD) BN,  AETOR.

1) 10 Cemoodne 33 ®edonsh 3, 606335@033@ 2/5 . Cjan Rozeeor o
53~®C§D3d

2) RedI 03 GBS =edRsh  2/5 ZONTY, 10 Se n$ msgéd a’aedorieé'met
TOTRETIN wd%mﬁéd ' - ’

3) 10,000 Semoony @aﬁoaﬁdmf:n EN ofontal g nin; Néomfo 8 6%603@"
2) 120,000 Cemod @5, ReRSHoD, 70,000 CRIRONK WL,
b) 130000 ‘ad odaoéraewﬁdsaﬁeém 90,000 dra DO wdoi)@ahd
¢) WEGY 10,000 demon  wdeboRng.

TOTIOH  WIIBY  BIFF - Sshecbivs, SRk R womwY RIS
Re3T,  SgEwe. '

Shiva company has 1500 8% redeemable preference shares of Rs. 100 fully pald It
decides to redeem the same out of profits. ‘

Pass the journal entries .if "all the shares are redeemed.
a) at par
b) .at a premium at 10%

53 BomR03® 1,500 8% o83y S[nawEmd  de. 100 3 B T
wedoﬁe;m BOTRLEwoN "?538,053 O BT @dsa oaeny aj:mcéoo

y adreno"d

QR uedomia“n a@ew m@&modo* RICSF ammﬁem dmz%»
a) AwIoIwon (at par)
b) 000 10%
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SECTION- D
A - @
(Compulsory-saod I3, (1x15=15)

The Shaky Ttd. went into voluntary liquidation on 31/3/2022 at which date its share

capital and liabilitics were as (ollows.

100 equity shares of Rs.100 cach Rs.70 called 70,000
calls received in advance 5.000 75,000

2,000 cquity shares of Rs.100 cach Rs.90 called 1,80,000

Calls reecived in advance 20,000

| 2,00,000

less: calls unpaid 10,000

1,90,000

debentures (having, {loating charge) 20,000

Interest on debentures . 2,000

Unsecured creditors (Rs.5000 preferential creditors) 60,000

The assets realised Rs.3,10,000 the liquidation expenses, came to Rs. 9,100 the
liquidator is entitled to a commission of 4% on assets realised and 2%2% commission
on amount distributed to unsecured creditors.

Prepare liquidators final statement of account, assuming that the calls unpaid "~
were duly collected. '

o8 Dot3® 317372022 Tod ?sojaooucba’asaﬁ OTIYCIOEND. 8 DIVOTTORD
OTT  ReD  VOTFY D, BRBMOOIND B éemaioé

100 Swseood 100 éﬁ%éﬁ Rednsd

3oo 100 Twseonod 70 aoth  ddedbeend. 70,000
BwousFmon  FE  ACTORGONT. 5,000 . 75,000
100 Twezons 2000 éagw ' '
Xeprsh 3w 90 . dw. 1,80,000
=00W3ToN TS s&eﬁox@and. 20.000
, ‘ - -2,00,000
less: O=SRT  FOND 10,000

| ' ‘ ©1,90,000°
POTIND  (FRWON  WBHBRFBROOT) . 20,000
oOTINRE eI W 2,000

R0 OMBT  (Be. 5,000 ©TS0H  MWOMTR) 60,000

-"‘3371%1) @033&90(3 dw  3,10,000 @m@ ESZ’a’ﬁ%‘b dw. 9100 5 LOTH)

e‘)&cé’ewd 3ichdeor I ReS 4% DB wmdus wmmdeﬁ D3O
dxraa’d Sed 2¥%% DRI Clhistagertjlevichiel

ToomsnT 30Ny,  ROTkXCRNTS S0 2;)3&),\). D@3V 230D
03T BEYTODIY, w&wm. ‘ -
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IV Semester B.Com. (NEP) Degree Examination, October - 2023
COMMERCE '
Costing Mcthods and Techniques
(Regular)

Ao

Time : 2 Hours : Maximum Marks : 60

Instructions to Candidates:
‘ 1)  All Sections are compulsory.
; DY DPIINNEL BT 0.
\ 2) Answerall the questlons accordmg to internal choice.
B030F SOPNTRODR SR, T BJnen eu3oR0.
3)  Question No 11 case study is compulsory
B3, M. 11 @500 e, o0oR B 00,

 SECTION - A"
opn -
Answer any Five of the following: Y f v (5%2=10)

il

IINT IRPTTTR VW wérﬁ@ﬁ SUBORD.
1. a) Define Job costing.
@R N BRI odom QeRO.
b) What is process costmg ‘7 ‘
. B0 3, Qeorodd TGS 20T 2
~ ¢) Give any four orgamsatlons where service cost apphes
_ o Ree da‘:’ sw oiom wwmmmmmw o:ba@waddro Tow, emaabmﬁm 8PRD.
d) - “What is PN ratlo ‘7 " 4
023 - TORMED ORTT aoddea’o 9 ure.
e) Define ABC system.
| BuowE 35303 S ISJODEV Q‘SJESJ QeRD.
f)  What is budgetory control ‘?
welts® (990303,00) Jodos, aoddeab 9’
g) Write the meaning of work-certlﬁed
wﬁ)‘éiésarvmd FORT @ZSF‘E?E&) EPVRD.

[P.T.O.
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SEACTION B
azpari - ;
. Answer any Three of the following. ?, ' (3x5=15)

o503, R B,ZRer -vg0Rd.
2. Briefly explain advantages and _disadvantages' of Standard Costing.
' BRRS FYR eBno-eTRBRONYEY RITTON OTORD.
3. The following information has been taken from the costing records of an Engineering
"~ works in respect of job no.333, materials consumed Rs.20,000
Wages:  Dept A 30 hours at Rs.6 per hour
~ " Dept B 20 hours at Rs.4 per hour
Dept C 10 hours at Rs.10 per hour
Overhead expeﬁses for the three departments were estimated as follows:
Variable Overhead '
' Dept A Rs.10,000 for 5000 labour hours
Dept B Rs.6,000 for 1,500 labour hours
Dept C Rs4, OOO for 500 labour hours

Fixed Overhead
Fixed overhead at Rs.40, 000 for normal 10,000 workmg hours.

You are required to calculate the cost of job no.333 and calculate price so as to gwe
a profit of 25% on selling price. (

emzira en Xo. 333 'o* TOWORAT emc:'ira en ﬁza;ﬁeé =00&8030 faoazaojaaonf QTNOOT
oy mﬂcﬁo B3 %emméd

sodoimeaic KoBori> de. 20,000
Jows 1 A ng ©,8 not3 de. 6 o3 30 Nony wWIRR

B oteng @@ rotd dn. 4 Sod 20 oy SO

C- ovorig, D8 moi dm. 10 B3 10 rowints =0
Sondh OEPRRER HowoRas Soeenmiv 8 F9NF0ss.
wBoIrdS F; ‘ '

A r 5,000 T rotirert o, 10,000

B oon 1,500 masrs nodneR de. 6,000

C Qi 500 mo0F8 nowdner dw. 4,000
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000 §oxE nowdner dr. 40,000

AR W Jo. 333 '&Lm’owo{p&d wm’iraﬁm :swpmt e%d o8, 25% ©CAIOBEEY 7202
~ P <
YA Y o

ARTR WERORD, Fodbaen $94.
N\

Sti Rottureswata Transpott Company tuns a bus of 60 scals capacity between four
cutes covertng distance trom

Davangere to Chitradurga - 60 kilometers
Davangere to Hubli - 150 Kilometers

Davangere to Shivamogga - 90 kilometers
Davangere to Hosapete - 120 kilometers

It makes 3 round trips between Davangere and Chitradurga, 2 round trips between

Davangere and Hubli, 3 round trips between Davangere and Shivamogga and 3 round
trips between Davangere and Hosapete.

Generally 80% seats are occupied in all the above trips. Bus runs 4 days between
Davangere to Chitradurga, 6 days between Davangere and Hubli, 10 days between
Davangere and Shivamogga and 10 days between Davangere and Hosapete. Calculate
total passenger Kilometers.

3¢ 3RMRFEES MWOR FomACRD 60 L3I MWRFFRY, WRHRTRY TOLY, INTHY IR
LARIR, I INOH SRR ©o33 Bs TINS0B. -

TORERS Q0O WB,WoNF - 60 8,808,
TRERS e oYY, - 150 s.00¢.
RS 000w WK, - 90 3.e0¢.
ToRHRRd oo Texmed - 120 d.00¢.

TREAT R WA FTRDI W, BAOT 5 womd I3 4 OF AowsoRI3.
TORERT X TRy, SRV WA, TS0 2 w0 W3To3 6 OF KowsoRT.
RIEAI DR DR, IR D, BIOS 3 Bord BIFeS 10 OF HowoRS,
Reid R BeITerd IRDT W, T30S 3 3oowd AITeF 10 OF Koo,
O Qe A BIT WROFES T3V §0% T, 33 odpnc.

-

HrOF [T SRSV wv:raﬁﬂo'c:‘o*r 33REEEITT BoRILEOD.

[P.T.0.
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5. From the following information, prepare process 'A' account:

-Raw materials introduced 5000 kps
cost of raw materials per kg Rs. 12
Other dircet malterials R$.6,000
Dircet labour cost R$,16,000
Expenses . Rs.2,000
Normal loss (% of input) 10%
Serap value (per kg) Rs.3
81 BINT Bndedowon HoxDed Tdod sdodds) SodORD.
BuR), Ndsonh 5000 .22,
TR, NO8S WY (B8 §.83.K%) | on.12
283 Hned 806,000
3¢ wd : 8n.16,000
Retctel dw&ﬁ%b 0%.2,000
ROBID, TON 10%
mHwd ¥3S (I8 ¢.28.1) 0R.3

6. TIrom the following information, calculate profit to be transferred to profit and loss
account and reserve.

Contract price - Rs. 20,00,000
Work certified Rs. .16,00,000
work un-certificd - - Rs. 1,700,000
Cash received ' | Rs. 14,40,000
Estimated profit - " Rs. 3,00,000
Notional profit Rs. 3,20,000

81 B9NS BkIod 0RO C3RLT) BITREOW COPRI) O, UoI-TH, 93R Do)
zfao:%a,mw 25938 TMRFCVRBTOITOR di'g %O, .

ron e g, 20,00,000
Snels S g, 16,00,000
FRReBas SR g, 1,00,000
AgBonT T o, 14,40,000
Elant- VI SnTAl gr. 3,00,000
PORE w3 ge. 3,20,000
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SECTION - C
Q- B
Answer any Two from the following.
= FA3 SRITTIR 0D IZRIR GO0
How do you treat profit on mcompleted contract ?
ETNRET LIOIT BPIR Qexmy) Bt JoNeIRo3ed ?
A company manufacmnng two products, furnishes the following data for a year.

(2x10=20)

Product Annual output  Total Machine Total number Total number
(Units) Hours of purchase of set-up
‘ order
X 10,000 20,000 160 20
Y ' 50,000 120,000 384 44
1,40,000 544 64
The annual overhead are as under: o
: Rs.
Volume related activity costs 5,60,000 .
Setup related costs ~8,40,000
Purchase related costs o 7,00,000
21,00,000

You are required to calculate the cost unit of each product X and Y based on activity
based costing method.

2,0T BOTICIN NTHD mmm em:%@wéz:i) Nowoaé TOAFT %3030 E3 BN,

=R - TSONET emsarsd 283, CBR08T L) DD - WY, *aw:vﬂ
A (mawm) ﬁowﬁe;b ‘ ejcﬁes R0, Noajzs
X \ 10,000 20,000 160 20
Y 50,000 1,20,000 384 , 44
e, 1,40,000 = 544 64
o . B0ee0BUIT 88 FINS0SR :
| ciomme Rowos B 5,60,000
waﬁﬁ TOWORAT astJm 8,40,000
;Df)eaﬁ BOLIODAT aﬁwl]ﬁ% 7,00,000
21,00,000

0w " S5, i aosoRomT X %) Y Bane ohenest Sivs omatsRooD.

[P.T.O.
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9. The expenses incurred for production of 10,000 units in a factory are furnished

below: :

Materials T Rs.70 per unit
Labour A ' Rs.25 per unit
Variable overhead . ‘ ' Rs.20 per unit
Fixed overheads © Rs.10 per unit
Variable expenses (direct) ' Rs.5 per unit
Selling expenses )(10% fixed) Rs.13 per unit
Distribution expenses (20% fixed) Rs.7 per unit
Admlmstratlve expenses | Rs.5 per unit

155 per unit

Prepare a ﬂex1ble budget of 6,000 and 8,000 units by assuming that admmlstratlve
expenses are fixed for all levels of production. :

20030 NONOjJ@ 10,000 c3o08s" &RINTSY, emea&wdo NTTD W) B4 FPNT08T.

2o% 870 B8 .CRRER
200 coo TTnn s .25 B8 oRREH
WERORNEITE e, L dR20 B3 oRWR
30 sheensity, | dp.10 T2 cheRw
wGeRns. 55, (S¢a) . deS T3 cedwd
Rnooss 5523, (10% A%) - 8r.13 B8 03RAWA
QB3 3, (20% A0) 8n.7 B8 RITR
SEITZT [, dr.5 =8 adweden

155 =8 e

| oo, BOSNY IBSODY, YRS FURW ATTNTIFeI00m POk, 6000 DVEY
8000 oRJESF mamﬂ ema‘ocssﬁ 3ri>@uaa’scsac$ wdmoﬂaduaamd [OONB TS, asm

30370020.
10. The standard quantity and standard price of raw materlals requlred for one unit of
produict 'A'"are given below: : : _
. Standard quantity ° Standard Price
Materials X - . ‘ 2 kgs Rs.3 per kg
Materials Y 4 kgs Rs.2 per kg
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The actual production and other data are as follows:
Output 500 units of product A |

Total quantity for Total cost

. 500 units
Material X : 1200 kgs  Rs.3900
Material Y 1800 kgs  Rs.4500

Calculate material cost variance, price variance and usage variance.

0T CRRRET TR 'A' G0, YUBIDRL) LT RATIT BESE FIREd T = =08
B S FBN[0IT. |

BRI B,[e0 BRReds B3S
Ro® X , 2 8.3 dn.3 B8 8.3
ROBDY 4 3.3, de.2 B8 8.2

Ho eUBIEI0RD 500 CHRREFRTING), @ET [P0 B BINT0ET:
- i BERD ), B,
(500 cdweREFTeR)
o X 1200 8. ©®3900
308 Y | 1800 .3. de4500
R0 3, BIR, S Boadh FIA W T IR FI,AA, IELECD.

SECTION - D

_ QPN - B
Case Study (Compulsory) : _ - (1x15=15)
B30 ©B,00s (Fmed BI) - - :

11. Calculate from the following particulars

i) P/V ratio ii) B.E.P.
iii) Sales to earn a profit of Rs.1,40,000
iv) Net profit from sales of Rs.6,00,000 -
v) Margin of safety - '

Rs.

" Sales - 4,00,000
Less: Variable overhead 3,00,000
Gross profit ' 1,00,000

Less: Fixed overhead _ 30,000

Net profit 70,000

[P.T.O.
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FINT TONPOT ForRO&HRAWD, ok
i) o3-08ne e i) Bweod - Jne T WOTO
iii) ©r.1,40,000 oyin®Ren &SIc3desar R0
iv) Br.6,00,000 SR0oEE Boed &S S oo
V) O30 woed :
on.

RR0RE3 . 4,00,000
o woowds TG, g, . 3,00,000
Wi, o3 ; " 1,00,000
sa A% Sy 30,000

AR oo 70,000
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IV Semester B.Com. (NEP) Degree Examination, October - 2023

Business Regulatory Frame Work

(Regular)
Time : 2 Hours Maximum Marks : 60
SECTION - A
AIAD I
Answer any Five of the following: (5x2=10)
Berm x> FFner evzone.
1. a) Define Contract.
LTOTT 83, derD.
b) Who is Unpaid seller?
RoBNG TG, TWERT BWRTILMT 0BT CIRT 2
c) Find the relationship between competition and economic efficiency.
VRUTE, Fpets [B) QT TIINIOS ROWOTIRIY, TOTOSA.
d) Mention any two inventions which are not patentable under Indian Patent Act
1970.
P08ecd Hedots' 503) 1970 SRODY, B0ty INEOINT CBRYHIE3R S8R
BOTWIN 2BEWO.
€) What do you mean by environment pollution?
FORT [N, 0BT ?
f)  Give the meaning of cyber espionage.
RW0° LIeTOMoDTOD eﬁc;j‘rasmch Q6.
g) Who can deal in foreign exchange?

DTed DRV [, FWTHEY, 03T LONTLRLTIT 2

[P.T.O.
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10.

SECTION - B
QPN - W

Answer any Three of the followings: (3%5=15)
wieson Rt FIrenR «u3oR0.
Explain the remedies for breach of contract?
WHOTT VY 0EPHeIRTIN O DTORN F[OBOTNY B0 N[O,
List the exceptional persons who can transfer the title to the goods better than seller.
ATBND InooeizoT ROTPFTY  Kosons BRITZ, SeAFTOD SMFORWTITOT
(Saplanlefyd sﬂmﬁa [evinied) aowda’% aﬁ@i Rna.
Explain the redressal machinery under the Consumer Protection Act, 1986.

M,®T0 Tgw0 50038 1986 8 B sobr AVF&RIGTIRN 11,B8 [OHIT CIOVRLSSER
QWORD.

Write a short note on:
a) Cyber space
b) e-governance
31 BINIFY oedd Ay LB, B0,
a) Rwo Az
b) Q@-sE93
List the powers of central government to protect the environment.
gIR08e0d Fe0w, XTFTE wWORT TEmodOs BETONYRY T, [na.
SECTION - C
NN - 3
Answer any Two of the followings: (2x10=20)
Wewor AT FINOR e0IORD.
Discuss the essential elements of a valid contract.
2,000 a:;soi)wcg) zuau;odd@pﬁmd 93 mabzsmd e;eoem@aig% 23320,
Explain the essentials of contract of sale of goods.
RTB B0 wBOBBYTUTT 58 0D, FT woémﬂm‘i QTD20.

Explain the duties of the competition commission of India as spelled out u/s 18 of
the Competition Commission of Indian Act 2002.

Ys8ecd WpoHTH, FHpes wodeem ook 2002 3 R 18 3 SRODY.
JTpetd wodeens wraidn’eéaigl DZORD.
Discuss the kinds of contracts.

WHOTNY AN T,TTNTSY, DBOAD/23IFD.

JeGERT
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11.

SECTION - D
TN - B

Compulsory Question (Case Study) (1x15=15)
B0 gz‘i (%500 7 00T)

a)

b)

A forced B to enter into a contract at the point of pistol. What remedy is
available to B, if he does not want to be bound by the contract? Comment.
A o 23R $RRE Bws B 0dmy B8da wemoshod 2TOTT, 2ATOTS.
ToMTT, B 00 woE03008 wdRORT uwowé wdmﬂdasasoi)e ‘7 :om
&3@49503333 QedR.

'B' offered to sell his house to 'A' for Rs. 5,00,000/- A accepted the offer by

post. On the next day, A sent a telegram withdrawing the acceptance which
reached 'B' before the acceptance letter. Give your comment on followings:

a) Is the revocation of acceptance valid?

b) Would it make any difference if both the letter communicating acceptance
and telegram communicating revocation of acceptance, reach B at the same
time?

B c3» 35, SOJeIY Te. 5,00, 000 Sp83 A 1} BP0 SREWRTN PRI A

030 ﬁmm QT W, TGHT BB uwﬁosam RRRZS. SO, A 080 I

2RO, &Owcﬁcﬁ &)mddm wemw mraof FR&HRTIN 0B AN,

~ode5 &mﬁojo 023 I, 3@»@33 JpTeo B 03353 3O0RZS.

B3 B,30000 BOD B4 3N BZROR 3y 3T IOV, Ved.
a) 3w ddéo:ba Sd@oncdodde ?

b) wRod eﬁozé Rotsed Tmore wROD TS HOMY,H* FoTked HOEd wotke O
B o 3 Fe0w8, Lnod dcﬁé NN éoﬁo@ DTITR FBYRWNOZIO30E ?

" 'A' advances money to hlS son 'B' durmg his minority. Upon B's coming of age,

'A" obtains by misuse of parental influence, a bond from 'B' for greater amount
than the sum due in respect of advance.

Is 'B' bound by the bond? Comment.

A (Fpekd), odd 3 SN B, (#m3),R MmN 2,050 HeZE) AR
3088 B 03 @oDAR wow S033 A odo I, Tpes WIS, DowFeS e B
o00T TR mzwm BRBOR)TIN FOITD &3, wm wcéod;asaﬁ mmwd B o3y 33
30000 B3 wdmﬁmﬁoﬁoe ? ;XY wwséo.‘om eRd.
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I Answer all questtons
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Whois the inventor of Artificial intelligence?
Ao John McCarthyr

B.  Goeflrey Hinton.

C.  Andrew Ng.

D.  Juergen schmidhuber,

[na college office daily attendance through biometric machine is an example of which of
the following.

A Face Detection., -

B. Image classification.

C.  Natural language processing.

D. Allofthe above.

Azure bot provide a service to

A. Webchat~

B. Email

C. Messaging.

D. None of'the above.

If system is trained by labelling the objects these is called.
A. Supervised leaming,-

B.  Unsupervised learning. '

C. Self-learning.

D. None ofthe above.

In how many categories process of Artificial intelligence is categoriés.
A, Categorised into 5 catgories. "

B. Based oninput provided.

C. Categorised into 3 categorie§

D. Process is not categorised.

Which of the following is a component of Artificial intelligence?

A Leaming”

Training.

B:
.C.  Designing.
D.

Puzzling.
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7. Which of the following is not a service offered by Azure AI?
A.  Azurcmachine leaming./
B.  AzureBotservice.
C.  Azure cognitive search. -

D.  Azure Databricks.

8. Which of the following is the branch of Artificial intelligence?
- A. Machine learning;
B.  Cyber forensics.
C.  Full-stack developer.
D. Network design.

9. Al applications to "see" the world and make sense ofit.
A< Computer vision. '
B.  Real time vision.
C. Machine visioﬁ.
D. Noneoftheabove.
© 10. Which of'the following is NOT a feature of the Azure machine Ieammc designer?
A Drag-and - drop mterface
B. AutoML.
C. Code editor.
D. Model monitoring. |
" 11. Which of the following is NOT a feature of Azure computer vision service?
A.  Image tagging. '
B. . Object detection.
C. Textextraction.

- D7 Face Recognition. .
12. Which of the following is a popular natural language processing library.

A.  Spacy.

}./ NLTK.
C. Stanford CoreNLP. g
D. Allofthe above.

[P.T.O.
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13. Which of the following is a use case for conversational Al?
A, Customer service. -
B. = Sales.
C. Marketing.
D. Allofthe above. .
14. Which ofthe following isNOT a hyper parametex‘?
A Leammo rate.
B. Numberof epochs.
C. Batchsize.
D. Dataset.

15 What is neural network regre551on‘7

A.  Atype of machine learning algorithm that uses neural networks to predict a continuous
value.

B/A type of machine leammo algorithm that uses neural networks to predlct a cateoorlal
‘value. '

C A type of machine learning algorithm that uses neural netwerks to classify data.
D. None ofthe above.

16. Short cut key to create group in power Bl.

A Ctil+Clicke”

B. Ctl+A
C. Cul+aG
D. Ctr_l +N.

17. Attribute which is uniquely identified called |
A F oreign key. |
B.  Superkey.
C. Primary key.”
D. Consolekey.
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18.

19.

20.

21

22.

23.

A
.B.
C.

D.

£
B.

C.
D.

How do you visualize a data?

Which of the following is types of storage models in power BI.

Import.

Direct query.
Dual (Composite).
All of the aBove.

What is not the type of felafionships that you will find in power BI?

One - to - Many.
Many - to ) One.
Many - to - Any.
Many - to - Many.

A. By barchart.

B.
C.
D.

By line chart.
By pie chart.
All of the abover”

. Which of the following is NOT a step in the data preparation process?
A.  Cleaning data. -

_B. Formatting data.
C. Analyzingdata.
D. Validating data.
Which of the following is NOT a microsoft data analytics tool?
A.  Power BI Desktop. »
B. Excel.
o Rstudio.
D. Python. , |
Which of the following is a type of data model is péwer BI?
A Relational modet _ ' g
B. Meshmodel.
C. Hierarchical model.
D. Beenmodel. .

[P.T.O.
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24,

[8%]
:Jl

26.

27.

28.

29.

Which of the following is NOT a benefit of using visualizations in power BI7?
A lmproved communication.
B.  Increased understanding.
C.  Simplified analysis.
P Reduced complexity.
Which of the following is NOT a type of data analysis in powcf BI?
A.  Descriptive analysis. .
;' Diagnostic analysis.
C.  Predictive analysis.
D. Prescriptive analysis.
What is Power BI primarily used for?
A. Word processing
}3./ ~ Data analysis and visualization.
C. Video editing.
D. Social media management.
What is a poiver BI dashboard? ’
4 A collection of reports, visuals and other elements.
B. A template for designing data models.
C. A datastorage location within power Bl.
D. A datatransformation tool. .
In Power BI, what is a workspace?
A.  Avirtual area to organize and collaborate on center.

B. The physichl location of the Power Bl servers.

C. The folder where Power BI files are saved.

D- A collection of visualizations in a report. ,

Which role in a Power BI work space allows member to cdit, publish and share content?
X~ Viewer. '
B.  Contributor.
C. Admin

D. Member.
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| 30. Whichtypeof analysis is performed by key influencers visualization in power 1317
A. .~Regression analysis.

B.  Cluster analysis.

C.  Trend analysis.

D. Datavalidation.

[P.T.O.



